}E{ ,éx @ addition de fractions ( fraction appropriée ) (
m fraction impropre )

Nom: Date: Note:
4 4 1 4
— 4+ - = — 4 - =
3 8 4 3
2 4 7 7
— 4+ - = — 4 — =
6 9 8 8
4 5 3 4
3 3 2 5
1 7 2 5
4 4 7 4
6 7 2 4
72 5 5
1 2 6 1
6 4 7 6
6 6 3 1
— 4+ = = — 4 - =
5 8 8 3
7 3 1 4
—+ = — 4 - =
6 9 3 9
3 5 5 5
4+ = — 4 - =
5 3 8 4
6 1 4 1
— 4+ - = — 4 — =
4 5 6 7
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addition de fractions ( fraction appropriée ) (
fraction impropre )

Nom

4 4 11 5
—t+—=_—=1=
3 8 6 6
2 4 7
4=

6 9 9
4.5 _,

3 3

17,

4 4

6, 7_6_,5
7 2 1 14
1 2 2

—_+ ===

6 4 3

6 6 39 19
=" =1—
5 8 20 20
7 3 3 1
4+ ===
6 9 2 2
3 5 34 4
T+ Il=_=9__
5 3 15 15
6 1 17 7
= =1—
4 5 10 10

Date: Note:

1 4 19 7
= =1—
4 3 1 12
77 3
et —=_—=1=
8 8 4 4
3 4 23 3
T4+ —_="=9=
2 5 10 10
2. 5_43_ 15
7 4 28 28
2 4 6 1
T _=_=1-=
5 5 5

6 1 43 1
= =1—
7 6 42 42
3 1 17
4=

8 3 24

1 4 7
4 - =

3 9 9

5 5 15
T+l ="=1=
8 4 8

4 1 17
-t =

6 7 21
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